Argument Outline 2
The Good Life
Background

As you get more practice at outlining arguments, you will start to see that various segments of the text hang together as movements in the argument (like movements in a piece of music). Recognizing these movements will also give you clues about how the backbone of the argument (the simplest way of reaching the conclusion) should go. To a certain extent, Aristotle’s translators have tried to help you by providing paragraph breaks, but those will only get you so far. Sometimes there are important shifts within a paragraph, and sometimes Aristotle circles back to something that he left aside earlier.
Assignment
Section to analyze: The function argument. Aristotle’s Nicomachean Ethics, Book 1, chapter 7, lines 1097b24-1098a17 (from “Now this might come about” to “the best and most complete virtue”), trans. Sachs
Major conclusion: the human good (= happiness) is a rational activity (= being-at-work) of the soul in accordance with complete virtue.
[You do not need to include the parenthetical bits in your statement of the conclusion; I just want to remind you which terms are synonyms.]
Part 1:

Below, I give you the boundaries for what I suggest are the movements involved here. For each movement, please articulate the topic or claim it is mainly dealing with. (This should be something like the thesis of the section, although here you may formulate it as a question.) This should not require more than one sentence per movement.

Movements:

1. 1097b24-28 (from “Now this might come about” to “some work that belongs to one”)

2. 1097b28-1097b33 (from “But is there some sort of work” to “some sort of work beyond all these for the human being?”)
3. 1097b33-1098a8 (“But then what in the world” to “in accordance with reason, or not without reason”)
4. 1098a8-16 (from “while we say that the work of a certain sort of person” to “a result of the virtue appropriate to it”)
Part 2:

Using the movements designated in part 1, and realizing that the goal in this argument is to give a sketch of what happiness is, please articulate the argument in a numbered outline, like the one we did in class and the ones you did for a previous writing assignment. Notice that the argument’s conclusion as I have given it is a compressed version of what he says at the top of page 12 (lines 1098a16-18); this is to make your job a bit easier.
Hints
*You will definitely want to have read Ethics 1.13 (about different kinds of soul) before you tackle this.

*The second (short!) movement works entirely by rhetorical questions. This is unfortunate, in that it makes understanding it more difficult. Nevertheless, he is making an argument here. The first two questions are meant to be answered with something like, “That would be absurd.” With the third question, he is proposing his answer.
*In your outlining, you may want to put movements 1 and 4 together; they seem to me to fit nicely.

*The end of the first paragraph (around 1098a6) is calling upon Aristotle’s distinction between potency and being-at-work; “reason” can mean both an enduring ability and a particular activity (reasoning). “Reason” is equivalent to “that in us that has articulate speech.”

*This argument follows the same general strategy as Socrates’ argument at the end of Republic 1. 
